Skanes BF
DM-lag final, match 10

IMP o6ver faltet, 16 bord, 28 par. Antal brickor: 7.

Plac  Par Poéng Namn MID Klubb
1 1 5.65 Pierre Carbonnier - Hakan Tjarnemo 5538 5534 Lunds BK
2 12 3.51 Rolf Bengtsson - Andreas Konyves 4614 4590 BK S:t Erik
3 45 2.85 Carina Stjernfeldt - Eva Gustafsson 11197 12452  BK Tre Sang, Helsingborg
4 15 2.80 Olle Persson - Lars Becklén 23285 80419 Malmo BK
5 8 271 Bjorn Sanzén - Peter Billgren 5900 4458 BK Lavec
6 3 2.27 Thomas Andersson - Johan Bennet 15537 93 Overums BK
7 35 2.18 Fredrik Jarlvik - Tatyana Trendafilova 4451 35574 Malmo BK
8 46 1.67 Mats Pettersson - Borje Dahlberg 5587 4744 BK Lavec
9 33 0.88 Michael Olsson - Mats Norhager 5768 46709 BK Zonen
10 44 0.83 Lars Jeppsson - Bengt Svedrell 449 89485  Ystads BS
11 42 0.57 Hans-Olof Hallén - Lars-Géran Niklasson 9896 11361 Malmo BK
12 14 0.52 Christer Holst - Magnus Ohlsson 48988 89166  Kristianstads BK
13 13 0.47 Jan Gutenwik - Perry Sjoberg 6302 5775 Malmo BK
14 39 0.24 Johan Erlandsson - Jonas Tjarnemo 17710 65741  Véarnamo BK - LUCK
15 31 -0.24 Bonnie Clementsson - Johan Franzén 55628 686 Malmé BK
16 5 -0.47 Viktor Andréasson - Christian Leo 89902 577 Hassleholms BK
17 6 -0.52 Eva-Liss Gothe - Hans Goéthe 5285 9054 Ystads BS
18 34 -0.57 Goran Lindberg - David Probert 4339 3990 BK Lavec - BK Bridgehuset
19 36 -0.83 Peder Nilsson - Bjérn Gustavsson 20955 963 Kristianstads BK
20 41 -0.88 Jan Becklén - Bjorn Fallenius 20525 4470 Overums BK
21 38 -1.67 Magnus Wegestal - Goran Gronvall 91149 3066 Malmd BK
22 43 -2.18 Martin Johnsson - Jérgen Andersson 13345 22136  Hassleholms BK
23 11 -2.27 Hakan Litsegard - Staffan Essén 5536 5529  LUCK
24 16 -2.71 Sigrid Svensson - Lotta Lundber 64393 43210 Lunds BK - BK Bridgehuset
25 7 -2.80 Gunilla Berthagen - Rosemary Palsson 57244 57245 BK Tre Sang, Helsingborg
26 37 -2.85 Gunilla Wallin - Susanne Levin 48390 53421 Malmd BK
27 4 -3.51 Nils Séderberg - Thomas Ehrstedt 12409 4074 Ho6rs BK
28 9 -5.65 Héakan Karlsson - Sofia Karlsson 12855 14347 BK Zonen
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Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 9 49v0-2 47 100 540 -540( 1 9 3NN-2 K -100 1240 -124.0| 3 11 44DV-1 ¢K 200 79.0 -79.0
3 11 3NV-2 «A 100 540 -54.0| 8 16 3#DN-1 ¢K -100 124.0 -124.0|34 42 34 O-2 49 200 79.0 -79.0
8 16 54V-2 &4A 100 540 -54.0|34 42 34 V+1 #A -170 108.0 -108.0|36 44 34 O-1 «T 100 47.0 -47.0
35 43 4v V-2 4K 100 540 -54.0|31 39 54DN-3 ¢K -500 140 -14.0(38 46 2« N= ¢2 90 47.0 -47.0
513 3#V-1 &4A 50 31.0 -31.0| 3 11 44V= 48 -620 240 240(33 41 2¢ V= v2 -90 -13.0 13.0
6 14 4vV-1 &4A 50 31.0 -31.0| 6 14 44 V= 48 -620 240 240| 6 14 4v S-1 4K -100 -20.0 20.0
33 41 49 0O0-1 47 50 31.0 -31.0| 7 15 44 V= &A -620 240 240 1 9 3¢ V= 4] -110 -21.0 21.0
36 44 3NV-1 #4A 50 31.0 -31.0|33 41 44 V= 43 -620 240 240| 5 13 24 O= 49 -110 -21.0 21.0
38 46 3NV-1 4A 50 31.0 -31.0|35 43 44 V= &A -620 240 24.0( 7 15 2¢ V+1 4] -110 -21.0 21.0
31 39 3«aV=v7 -110 -18.0 18.0|36 44 44 V= &A -620 240 24.0( 8 16 24 O= &9 -110 -21.0 21.0
34 42 3+V+1 4A -130 -29.0 29.0|37 45 44 V= &A -620 -240 24.0|35 43 24 O= 49 -110 -21.0 21.0
4 12 3NV= &K -400 -108.0 108.0(38 46 44 V= 48 -620 -240 24.0|37 45 24 O= &9 -110 -21.0 21.0
7 15 3NV= &4A -400 -108.0 108.0| 5 13 44 V+1 &#A -650 -340 34.0|31 39 24 O+1 v7 -140 -35.0 35.0
37 45 3NV= &4A -400 -108.0 1080 4 12 54DN-5 ¢K -1100 -144.0 1440 4 12 3#N-2 +6 -200 -58.0 58.0
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Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang
311 6vy V-2 &3 100 880 -880| 1 9 64 O-2 46 100 149.0 -149.0| 1 9 3NN+1 ¢33 630 133.0 -133.0
35 43 6y V-2 ¢K 100 88.0 -88.0| 3 11 3NO= 44 -400 21.0 -21.0| 8 16 3BNN= #8 600 130.0 -130.0
1 9 5vVv-1 ¢K 50 73.0 -73.0| 4 12 3NO= 45 -400 21.0 -21.0|35 43 3NN= 3 600 130.0 -130.0
7 15 4v V-1 +K 50 73.0 -73.0| 6 14 3NO= 44  -400 21.0 -21.0| 513 2¢v S+1 #9 140 28.0 -28.0
31 39 6vyV-1 ¢K 50 73.0 -73.0|38 46 3NO= 45 -400 21.0 -21.0|33 41 INN= #J 90 11.0 -11.0
33 41 6vV-1 ¢K 50 73.0 -73.0| 8 16 54 O+1 &5 -420 10.0 -10.0(38 46 INN= &J 90 11.0 -11.0
4 12 4v V= ¢K -420 470 47.0| 5 13 3NO+1 &5 -430 8.0 80| 3 11 4¢vyN-1 +Q -100 -43.0 43.0
6 14 4v V= ¢K -420 -47.0 47.0|31 39 3NO+1 v2 -430 8.0 -8.0| 4 12 3NS-1 #J -100 -43.0 43.0
8 16 4v V= ¢K -420 -47.0 47.0(36 44 3NO+1 43 -430 8.0 -80( 6 14 3NS-1 +A -100 -43.0 43.0
5 13 4vV+1l K -450 -57.0 57.0|37 45 3NO+1 ¢6 -430 8.0 -80| 7 15 34S-1 +A -100 -43.0 43.0
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Par Kontr ut Res Poang
4 12 34 V-1 94 50 67.0 -67.0
6 14 INN-1 &J -50 36.0 -36.0
31 39 INO+1 &5 -120 13.0 -13.0
513 24 V+1 94  -140 3.0 -3.0
7 15 24 V+1 8  -140 3.0 -3.0
33 41 24 V+1 v8  -140 3.0 -3.0
34 42 34 V= v8 -140 3.0 -3.0
36 44 24 V+1 93  -140 3.0 -3.0
1 9 34V+1l v4 -170 -9.0 9.0
8 16 24 V+2 94  -170 -9.0 9.0
37 45 24 V+2 w4  -170 -9.0 9.0
35 43 24 V+3 46  -200 -19.0 19.0
38 46 44 V= v2  -420 -85.0 85.0
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